SUTIVISR

1 [FEG EA] 162548 | fEXR | BEE 7l 2 2 5
2 [#K BiR 196494 | FE# 6401 5/ 5 6 1
3 |#HE BX 208603 | FEE 6349 1| 14 8 3
4 |KH = 162155 | BEAK 1310 8l 3 1 9
5 [EH $%HX 170616 | EI& 6290 4] 7 3 6
6 |FE X 190320 | LB 3773 2| 6 71 10
7 [#EA TE 133160 | #2[ 1963 10] 4 9 4
8 I B 208602 | EI 6445 15/ 1| DNF 2
9 [FFH F%E 163989 [ #2F 5193 9] 9 4] 11
10 |f8H AKX 162547 | EER 6432 6] 8] 10 8
11 [fEEF 3 161283 | EER 3990 1] 11 5 7
12 [#g BER 196496 | B 6350 3| 13| DNF| DNF
13 [IAK SBEE 196487 | F&; HiE 12| 10| DNF| DNS
14 |SH ¥ 196493 | B2 | BEH 13| 12| DNF| DNF
15 | Kl ¥ 211149 | =IF 6444 14| 15| DNF| DNS
16 [JI| £ &RER 145712 | HBA 2750 16| 16/ DNF[ DNS
17 [IlUA & 150591 HEAK 4626 | DNF| 17| DNF| DNF




